Thursday, 2nd April 2020
Workbook 109/22: 
	LONG FORM
	SHORT FORM

	2 has
	2 Nicoletta’s

	3 have
	3 I’ve

	4 have
	4 You’ve

	5 has
	5 She’s

	6 have
	6 They’ve

	7 has
	7 Peter’s

	8 have
	8 We’ve

	9 has
	9 Lucy’s

	10 has
	10 The plane’s
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Bill hasn't washed the car. Has Bill washed the car?

The bus has left. Has the bus left?
“Tim has broken his leg. Tim hasn't broken his leg.
They have gone to the shops. Have they gone to the shops?
You haven't made a mistake. Have you made a mistake?

Mr Black has had a shower. Mr Black hasn't had a shower.





